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| STAR PUBLIC SCHOOL

Dear Parents,
Today's assignment ( class 2 nd)

'~ Hindi - fr=<ht (1 - 20) Test

.~ English - Lesson - 6 | wonder

why ( Reading+ explanation+ difficult
words+ word meanings)

'~ Maths - ( Page number - 78 &
79 )in book & notebook

.~ EVS - Lesson - 6 (Reading+
explanation)

Home Assignment-

.~ English- Learn Lesson - 4 of
English for Tomorrow's test 5.5 ,, &/
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She finds that no flower pot is left with her nOw.

5-5=0

C Ly

Kinjal has arranged all 10 flower pots equally in 5 rOWs in the garden

She has divided 10 flower pots in 5 groups- Eac

h group has 2 flower pots,

The process of dividing something into small equal groups is called division
The symbol '+ is used for division.

10 = 5 = 2 is read as 10 divided by 5 is equal to 2

10 = 5 = 2
1 ¥ d
Total Number of

Number of objects to be
number of objects

groups put in each group

0 Divide the objects equally among given number of people by forming groups

(@) 18 cans among 6 girls (b) 14 spinners among 7 children
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14+7= Lg,
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(c)

16 candles among 8 people

(d) 20 balls among 5 boys
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20 + 5= Lw
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Rppealed Subtraction
}(vpt“‘wd subtraction 1s a method of performing division. While performing
Jivision, we are actually doing repeated subtraction and the answer to that

division problem is how many times we subtract the same number.
Look at the following example.
ghivani has 16 leaves. She wants to paste these leaves equally on 8 pages.

First she pastes 1 leaf an each page. 16 -8 =8
Then she pastes 1 more leaf an each page. 8-8=0
Thus, she pastes 16 leaves on 8 pages. 16 -8-8=0

We can also say that she subtracts 8 two times from 16 to divide the leaves.
Therefore, 16 + 8 = 2.

properties of Division

On dividing any number by 1, the Try It Out

answer is the number itself. Fill in the boxes.
14+1=14 (@) 18-2-2-2-2-2-2-2-2-2

« No number can be divided by 0. | ={n | — 2. "1=‘\ q

9 = 0 is not possible. ) 28-4-4-4-4-4-4-4
« On dividing any number by itself, N Y
the answer is 1. =28 ,H\ H= 7]
11+11=1
« On dividing 0 by any number, the answer is 0.
0+8=0 ,
« We can divide any number ending in 0 (except 0) by 10.
70+-10=7

Q Divide the following using repeated subtraction.
@ 32+4=¢ (b) 64+8=] & | ©81:9= q \
G Fill in the blank boxes.
@0+12 =/ o ) 161 = I

@10+10= | | (d) 12010 = |7
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> Count and write the number of balloons. Two have been done fo, Yo,
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